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oot & 28 N& 70,000,000& 70,000
AltI 24,000
4| 46,000
SEMERIEH 29 60,569 75,365 A14,79%
101 eI24t| 16,689 31,485 A14,79%
M IIHZ2E2NSEs 16,689 31,485 AN14,7%
OSFSMERSIHE JIZ2tHIZ2Z2 Xt 16,689
- QIABI(FEXELE)
86, 12021 1Z 28 x6 2 14,469
- =HAIEE = 14,469,000 *4. 5% 652
- IOIHAEEZ 14,469,000 *3.495% 506
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201 Let23| 43,880 43,880 0
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2 2T Al &4
ol 2 Mg 2 243 EEREE)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
11 HAIMHIXIZ = 1,05 1,152 NS S
O3l &A Aldl=2et
8,000 118123 1,056
14 J|EtE &S 28,800 14,400 14,400
O&A 2R+ 60,0002 *3Z*1603] 28,800
405 KHAHE SH 1,000 1,000
01 TRILESFHSH 1,000 1,000
ORZOIHL BIE
1,000,000& 1,000
Aot MEHE3t ME HF0 15,000 11,000 4,000
201 Lt 15,000 11,000 4,000
03 AH2 I 15,000 11,000 4,000
OAISHEE 23t &
15,000,000 15,000
OMAIOtEHE 2= Al 22 T (TPO) AH EIt 4,500 4,500 0
310 =2/01& 4,500 4,500
2 2NFs=s 4,500 4,500
OTPOZ!H| 4,500,000& 4,500
Atoh 2tZALE B2 20,000 4,000 16,000
201 L2 5,900 4,000 1,900
01 AtR2telb] 5,900 4,000 1,900
O&ARE =Z 200,000 & +6H 1,200
ONI H& S 4,700,000 4,700
301 2N = 14,100 14,100
14 J|EtE2 8 S 14,100 14,100
OYEE Alats 14,100,000 14,100
=2etatd 2= 2t 6,152 6,152 0
redEd Nx 6,152 6,152 0
201 Zet2 & 6,152 6,152 0
01 AtR2telbl 6,152 6,152 0
Og==AHI| 28X
5,852,000& 5,852
ORsSZega U= S
300,000 300
S22 Hs € B& 277,446 298,283 N20,837
AlHI 127,329
- 150,117
ZoFL B 83,876 79,813 4,063
Al 42,129
-l 41,747
SXA2oHM =Z& HiX 61,385 57,322 4,063
Al 42,129
-l 19,256
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Rl Setea 2E (St &)
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101 @124H| 61,385 57,322 4,063
AlHI 42,129
Tl 19,256
MU IIRIMZZENSES 61,385 57,322 4,063
O2Z2s 288 23 S
60,185,000 60,185
AltI 42,129
-l 18,056
OE &=l 300,000& 2 600
O=NEAE 300,000& 2 600
=ZsteS gl 7,659 7,659
201 er2 3| 7,254 7,254
01 AtR2telHl 6,534 6,534
O2=2tAg 22183 78
1,944,000 1,944
OS2t gise 270,000& *22] 540
OS2 M 272 B+ S 4,050,000 4,050
2 35234l 720 720 0
Og3H Bots ®#II= 60,0003 * 12 720
203 =] 405 405
03 A= PR FA| 405 405
O=ati 2elg:? =8 450,000 #90% 405
St 2atMael 14,832 14,832
201 =3 14,832 14,832
01 At22t2l] 3,480 3,480
OS2 M2ACIARx: 2HES
120,000& ~12& 1,440
OZMHZCIANR A St A 2eES
170,000& * 12 2,040
02 S3=gHl 11,352 11,352 0
O HECIME L SERS 3,120
RSPl 150,000« 12& 1,800
o - otz 120,000 6 720
Stz 50,0002 123 600
OssBAANRL ASRT
2,953& x79m’ 234
OS2 2CIAR A SHIAFEA
50,0002 22 100
O2 M 2AcIAR A S2stad ot
300,000 *23] 600
Odflg=& FMESH 2e| 7,298
=&4l 1,475. 11320 £ *110AI 2t 3,246
Jl2 =X 16,2202 » 1200+ 1,947
&AM = 110,0183*1. 9= 219
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HES 43,0013 *1.998 86
CEHYO R EREE 900,000 900
ol = I 900,000 900
=3 &8s A& 193,570 218,470
Al 85,200
- 108,370
SN &8s X 170,400 195,300
Alt] 85,200
- 85,200
301 LEtE NS 170,400 195,300
AlHI 85,200
Tl 85,200
14 JIEt 2 a3 170,400 195,300
ORE=3M &ds X 170,400
SEESN ds XE 162,450,000 162,450
Altl 81,225
el 81,225
SEHEN Hstu
6,750,000 6,750
AlHI 3,375
-l 3,375
SFE 1,200,000 1,200
AlHI 600
Tl 600
Gt =2l K& 3,000 3,000
301 LELE NS 3,000 3,000
11 dALEEIXIRE S 3,000 3,000
ORI 2H3| AL 24
1,000,000 #33] 3,000
a2 dS2aA A& 16,800 16,800
201 fer23y| 16,800 16,800
03 A= I 16,800 16,800
OEFAHKI A 9,000
28483 4,500,000 4,500
323 4,500,000 4,500
OSAMZR0| 24 1,600
- Sl 300,000 22 600
- & A 100,000& 2 »23] 400
- S2Hd S =<0
100,000& x3& =22 600
OSg il X2 6,200,000& 6,200
AtotE 30 3,370 3,370
201 eer23y| 2,920 2,920
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M ME25I0 HEs L B=
thel: 23t 85 K& (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
01 ArR2eltl 2,320 2,320 0
OAot2sH 88 CHHMTH M S
2,320,000& 2,320
02 33244l 600 600 0
OAlotZ22t B2 2=
5002 %1,2005 600
203 AR F=&lh| 450 450
03 A ERIQ D= AY| 450 450
O=23t &g g2F8 500,000 *90% 450
MEHE =4 2,022,087 1,651,271 470,816
| 480,930
AltI 148,821
sl 1,392,336
MEHS B2 - |4 2,022,087 1,651,271 470,816
J| 480,930
Al 148,821
-4l 1,392,336
AZX2E 0|ER At 505,341 260,160 265, 181
| 367,739
Al 78,801
=4l 78,801
307 QIZ2t01 A 525,341 260,160 265,181
| 367,739
AltI 78,801
=t 78,801
05 QIZtRIErZ 505,341 260,160 265, 181
OAZXUZ 018 Ag
525,341,000& 525,341
| 367,739
AlHI 78,801
=t 78,801
Aot MEHS XS HiX 119,188 116,928 2,260
| 59,5%4
-4l 59,54
307 212+01 A 119,188 116,928 2,260
| 59,594
-4 59,594
02 QIZtBAAIEER 119,188 116,928 2,260
Oger MetXS X SAH HiXI
119, 188,000& 119,188
J| 59,594
=l 59,594
24 MEXSRITA BEX 59,594 58,464 1,130
| 29,797
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M MBS SA
Chel: MENs 22 - |4 (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
sl 29,797
307 gI2Hol M 59,5%4 58,464 1,130
| 29,797
=t 29,797
02 QIZHA A AL E & 59,594 58,464 1,130
OHzal M=K BHXI
59,594,000& 59,594
| 29,797
-4l 29,797
2Bt 24 MEHSXEAN MM 23,760 9,360 14,400
AlHI 23,760
307 QIZ2t01 A 23,760 9,360 14,400
Al 23,760
02 QIZHEAAHE X 23,760 9,360 14,400
OYEt- 24 MENSXNEA HRIHS
23,760,000& 23,760
Al 23,760
- d=s3 K& 80,000 75,000 5,000
AltI 30,000
=t 50,000
307 gIzHol 80,000 75,000 5,000
Al 30,000
=4l 50,000
03 QAN HE2GHIE X 80,000 75,000 5,000
O+ M=s 294 XA 80,000,000 80,000
Al 30,000
-4l 50,000
MEHEWA 29 16,667 16,667 0
AlHI 5,000
sl 11,667
307 QI2Hol ™ 16,667 16,667 0
AltI 5,000
=t 11,667
02 QIZHAAAIHE X 16,667 16,667 0
Odasns 29 16,667,000& 16,667
AlHI 5,000
-4l 11,667
F==H=0s 249 3,060 3,600 AB40
Alt] 1,530
sl 1,530
307 QI2Hol M 3,060 3,600 YANGY
AlHI 1,530
el 1,530
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Chel: MENs 22 - |4 (EEEE))
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
02 QI AANEE X 3,060 3,600 A540
O¥==M=ls =24 3,060,000 3,080
Al 1,530
-l 1,530
Olgl0lMsnsy 24 3,000 3,000 0
Al 1,500
el 1,500
307 212+01& 3,000 3,000 0
AlHI 1,500
el 1,500
02 QIIHAANSEE R 3,000 3,000 0
O0elol Hsud 2¢ 3,000,000 3,000
AlHI 1,500
- 1,500
HFAEME NS 2 2,860 2,860 0
Al 1,430
-l 1,430
307 212+01™ 2,860 2,860 0
Al 1,430
el 1,430
02 QIRIHAANGE R 2,860 2,860 0
OFAYE HeEus 23 2,860,000 2,860
Alt] 1,430
- 1,430
oMl dEMSE AddZE 3,400 4,000 2600
Al 1,700
-l 1,700
307 212+01™ 3,400 4,000 2600
Al 1,700
-l 1,700
02 QA HAIEE X 3,400 4,000 AB600
OF52 N MENT 423
3,400,000& 3,400
Alt] 1,700
- 1,700
ZOHUAE=2E Ol22 AL 34,000 23,040 10,960
J| 23,800
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el 5,100
307 212t01™ 34,000 23,040 10,960
J| 23,800
Al 5,100
-l 5,100
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EEEE 34,000 23,040 10,960
OBMWUATZA 0122 Al
34,000,000& 34,000
| 23,800
Alt 5,100
-t 5,100
oA 418 29 592,983 591,783 1,200
301 LetEEZ 592,983 591,783 1,200
2t - RSRESEH3 592,983 591,783 1,200
OAfot BREr 29 52,983
- Q1 24dl 321,156
2= 30 4,057, 2002124122 48,687
24s 254y 500,00021* 122 6,000
-Z4= FEFOHI 4,057,200 *120% 4,869
~d% 20 2,500,002 +72* 122 210,000
e 350, 0002724 122 29,400
Ha mFaY 100, 000211 Z* 122 1,200
~H ABEIMY
2,500,000 *7H *120% 21,000
S| 40,800
-S| 7,00021 8 <25+ 128 16,800
-2y 5, 000282 x252 x 122 12,000
—2kAlH| 5,00021 82 *252 + 122 12,000
Is 22,848
~gtar= 360, 000216213 2,800
2s= 160, 0002 82 *43] 4,800
-Ht&Hetol 100,000 «8H *33] 2,400
-253 150,000 *8 & +63] 7,200
~oret 6,002 824 x3% #1202 1,728
~sa= (4,5 160, 000282 +33] 3,600
-2 10,0003 x8H *43] 320
sz 25,720
A 250,000 »8H 43| 8,000
B/ 100, 0002482 *13] 800
- 1,500 *15JH+8H + 122 2,160
St 50,0002+ 155 A 1224 9,000
-2E 30,0002 8«20 x 123 5,760
&2 2 f51EH 74,280
AN 1,230,000 *8H *33] 29,520
RSESS 880, 0002 82 +63] 42,240
TS E 60, 00021+423] 2,520
JIEFEHI 108,179
R 8,192,850 21x3% 24,579
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M MBS SA
ol dEHSE 25 - |4 EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 2,844 2,844
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